Orebro lans BF
DM lag omg 9

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 12.

Plac Par Poang Namn MID
1 205 3.39 Irene Haberger - Berit Jonsson 55643 42639
2 304 2.57 Thorbjorn Fredriksson - Karl-Gustaf Larsson 45513 12299
3 4 1.56 Allan Oberg - Mats Oberg 90229 10375
4 1 1.35 Tommy Jansson - Bo-Henry Ek 8415 2381
5 302 1.15 Rolf Selander - Michael Runfors 7824 10344
6 103 0.99 Karola Hogberg - Lars Lilja 17222 4118
7 105 0.87 Leif Erlandsson - Karin Erlandsson 45510 45509
8 301 0.28 Johan Karlsson - Magnus Hultman 32229 14044
9 202 0.22 Kenneth Wallin - Pasi Kallio 1597 4029
10 203 0.08 Goran Oldin - Anki Johansson 10369 29219
11 3 -0.08 Jan Sonnerstedt - Goran Larsson 4110 4115
12 2 -0.22 Adam Winberg - Linus Jorner 2950 67
13 101 -0.28 Thomas Brehmer - Johan Gronkvist 4133 8342
14 305 -0.87 Lennart Ottosson - Vilho Réttvall 9748 10901
15 303 -0.99 Kjell Karlsson - Tommi Ramstedt 4136 51783
16 102 -1.15 Micael Svensson - Peter Arlegard 2383 4024
17 201 -1.35 Maria Gronkvist - Catharina Ahlesved 1076 7124
18 204 -1.56 Dejana Sverker - Marie G6thberg 50940 19806
19 104 -2.57 Gerdmarie Zall - Kerstin Marcusson 85196 16365
20 5 -3.39 Lars S Karlsson - Jan Olsson 63419 64502
37 4 E432 Basta kontrakt 38 41042 Bésta kontrakt 39 4 K975 Bésta kontrakt
Nord v Kn864 4% O =-130 Ost vE1063 54 S =450 Syd v9 5v V D -2 500
NS + K84 oV ¢4 Alla ¢ DKn
#385 & ¢ v & NT #E10986 & ¢ v & NT #E107653 & ¢ v & NT
4 86 &K N3 4796 4ED5  4Kn83 N 109 11119 4 E3 41084 N9 6 4 106
v95 vE1073 S34796 v 954 v Kn82 S 109 111110 v EKn873 vKD52 S 96 4 106
¢ E1092 ¢ DKn3 O 109 6 4 7 ¢ K1098 ¢ 7652 034223 4109832 +¢64 037936
#EKn963 #KD1072 V 109 6 4 7 &D75 #Kn32 V34223 »8 #K942 V37936
« DKn10975 4 K976 & DKn62
vKD2 vKD7 v 1064
4765 ¢ EDKn3 + EK75
*4 *K4 #DKn
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
103 303 34 S= v9 140 440 -440(201 1 3NS+2 ¢9 460 22.0 -22.0| 3 203 44 S= #8 620 95.0 -95.0
5205 3NO-2 49 100 34.0 -34.0|301 101 3NS+2 #3 460 22.0 -22.0| 4 204 44 N= vK 620 95.0 -95.0
2202 540-1 4Q 50 19.0 -19.0( 2202 3NS+1 T 430 12.0 -12.0|301 101 34 N+1 vK 170 30.0 -30.0
301 101 5#V-1 4Q 50 19.0 -19.0| 3203 3NS+1 ¢9 430 120 -12.0|201 1 44 N-1 vK -100 -29.0 29.0
104 304 54 0-1 «Q 50 19.0 -19.0| 4204 3NS+1 v9 430 12.0 -12.0| 2 202 44 S-1 8 -100 -29.0 29.0
3203 34 S-1 v¥9 -100  -19.0 19.0( 5205 3NS= 8 400 3.0 -30| 5205 44 N-1 8 -100 -29.0 29.0
201 1 440= 4Q -130 -29.0 29.0(102 302 3NS= ¥4 400 3.0 -3.0(102 302 44 S-1 8 -100 -29.0 29.0
4204 440= #Q -130 -29.0 29.0(|103 303 3NN= &2 400 3.0 -3.0(103 303 54 S-1 vA -100 -29.0 29.0
102 302 44 0= 4Q -130 -29.0 29.0|105 305 3NS= +¢8 400 3.0 -3.0(105 305 44 N-1 vK -100 -29.0 29.0
105 305 44 O= «Q -130 -29.0 29.0(104 304 3NS-1 v4 -50 -92.0 92.0(104 304 3v V+l1 ¢Q -170 -46.0 46.0
40 &D Bésta kontrakt 41 46 Bésta kontrakt 42  EKn108 Bésta kontrakt
Vast v 109732 3NTV D -1100 Nord v EK5 5¢ N =400 Ost v EK3 7% O D-41100
Ingen + K9 oV + EKD85 Alla + K10632
#KDKn103 & ¢ v & NT &Kn762 & ¢ v & NT &8 & ¢ v & NT
4 E643 #KI109 N9 3854 4 KD9543 & EKn872 N 11117 5 7 497543 &2 N 4 1212124
vD4 v E65 S 93954 v 102 v Kn8643 S 11117 5 7 v 864 v7 S 4 1212124
¢ 87642 ¢EDKn103 O 4 9 4 7 8 ¢+ Kn4 ¢ 102 022583 +974 + D5 090010
*72 »95 V49478 »D85 »4 V22583 »109 #EDKn765432/ 9 0 0 1 O
4 Kn8752 410 4 KD6
v KKn8 v D97 v DKn10952
5 #9763 + EKn8
*E864 #EK1093 &K
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
102 302 2v N+1 ¢A 140 54.0 -54.0|103 303 54DV-3 vA 800 95.0 -95.0| 4 204 6v S+1 43 1460 28.0 -28.0
104 304 3vy N= v5 140 540 -54.0| 1201 5¢ N= ¥3 400 210 -21.0| 1201 6v S= &T 1430 20.0 -20.0
3203 24 V-1 &K 50 31.0 -31.0| 2202 54 N= &A 400 21.0 -21.0| 2202 6vy S= &T 1430 20.0 -20.0
101 301 4v N-2 #9 -100 -5.0 50| 3203 5¢ N= &4 400 21.0 -21.0| 3 203 6vy S= T 1430 20.0 -20.0
1201 3¢ O= a2 -110 -6.0 6.0|101 301 54 N= &4A 400 21.0 -21.0|101 301 6v S= 43 1430 20.0 -20.0
2202 3¢ O+1 vK -130 -13.0 13.0(102 302 5¢ N= &A 400 21.0 -21.0|102 302 6v S= &T 1430 20.0 -20.0
4204 3¢ O+1 &#A -130 -13.0 13.0| 4 204 44 V-2 +A 200 -25.0 25.0(104 304 6v S= &T 1430 20.0 -20.0
105 305 2¢ O+3 v8 -150 -19.0 19.0 (104 304 44 O-2 vA 200 -25.0 25.0|105 305 6y S= &T 1430 20.0 -20.0
5205 2NO+2 %J -180 -28.0 28.0( 5 205 5¢ N-1 &A -50 -75.0 75.0(103 303 74D O -4 4K 1100 -55.0 55.0
103 303 54D N -2 %9 -300 -55.0 55.0(105 305 64 N-1 &A -50 -75.0 75.0| 5205 4vy N+2 &T 680 -113.0 113.0

Orebro lans BF, DM lag omg 9, sida 1 av 2




43 4 K1093 Basta kontrakt 44 453 Basta kontrakt 45 & Kn8543 Basta kontrakt
Syd vE 3v SD-1-100 Vast vKn 6¢ N =1370 Nord vKn 74 ND-6-1700
Ingen ¢+ Kn42 NS ¢ Kn10542 Alla + D1098
&#KD742 & ¢ v & NT &#EKNn872 & ¢ v & NT &KD7 & ¢ v & NT
4DKn74 &E52 N6 5855 4 DKn1086 & K942 N 12129 7 9 49 «E106 N3807 4
v4 v D102 S6 58565 v1073 v D985 S 12129 7 9 vKD10854 v E97632 S38074
+ K83 ¢+ ED976 O7 8 3638 + K9 + 876 011361 ¢E ¢ 542 O 8 4 135 9
#Kn8653 #109 V78 36 8 D95 &63 V111361 #EKNn1083 9 V 8 4 135 9
486 s E7 & KD72
v KKn987653 v EK642 v-
+ 105 + ED3 ¢ KKn763
&E K104 #6542
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
105 305 4v S+1 &4 450 79.0 -79.0|105 305 6# S= &Q 1370 124.0 -124.0 |304 104 2v V+5 &K -260 108.0 -108.0
2 202 4v S= #3 420 75.0 -75.0|103 303 3NS+4 ¢K 720 41.0 -41.0 1201 4v V+3 &K -710 33.0 -33.0
304 104 4v S= &3 420 75.0 -75.0 1201 3NS+2 «Q 660 30.0 -30.0 3 203 4vy O+3 &2 -710 33.0 -33.0
204 4 4v S-1 «Q -50 -19.0 19.0|102 302 5¢ N+1 &4 620 22.0 -22.0 5205 4v V+3 ¢9 -710 33.0 -33.0
1201 4vS-2 «Q -100 -35.0 35.0(304 104 5¢ N+1 &6 620 22.0 -22.0|101 301 4y O+3 &K -710 33.0 -33.0
3203 4¢vS-2 #4Q -100 -350 350|204 4 3NS= &Q 600 17.0 -17.0|103 303 4y V+3 ¥J -710 33.0 -33.0
5205 5vDS-1+A -100 -35.0 35.0(101 301 54S= &Q 600 17.0 -17.0 (105 305 4v V+3 #K -710 33.0 -33.0
101 301 4v S-2 «Q -100 -350 350 5205 34 V-2 vJ 100 -68.0 68.0 2202 6y O+1 &K -1460 -80.0 80.0
102 302 4v S-2 #Q -100 -35.0 350 2202 4vS-1 «Q -100 -90.0 90.0(204 4 6vV+1l &K -1460 -80.0 80.0
103 303 4v S-2 «Q -100 -350 35.0 3203 66 S-3 4Q -300 -115.0 115.0|102 302 7v O= &K -2210 -146.0 146.0
46 & K8543 Bésta kontrakt 47 «KD Bésta kontrakt 48 « EK108 Bésta kontrakt
Ost vE3 5NT O =-460 Syd v Kn1062 24 V =-110 Vast v 98743 4¢ V =-130
Ingen 492 NS + EK8632 ov +D3
&D1097 & ¢ v & NT &6 & ¢ v & NT »64 & ¢ v & NT
« D109 & E62 N3 2242 4 E9654 4832 N6 88 47 4 D32 476 N2 376 4
v K876 v Kn95 S32242 vED85 v43 S6 8847 vDKnl10 vK2 S23764
¢ KKn654 ¢ E73 O 1011119 11 + 104 ¢ Kn75 O7 4586 + 874 ¢ EKKn62 O 10106 7 8
LX) &#EKKnN6 V 1011119 11 K3 &#ED974 V74586 #E732 #DKnl108 V 10106 7 8
& Kn7 & Knl107 & Kn954
v D1042 v K97 v E65
+ D108 + D9 + 1095
#5432 #Kn10852 K95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
103 303 INOQ+5 &) -240 47.0 -47.0 1201 34V-1 ¢A 50 42.0 -42.0(103 303 2y N-1 +A -50 23.0 -23.0
5205 3NO= v2 -400 80 -80 2 202 264 V-1 +A 50 42.0 -42.0(104 304 2y N-1 +A -50 23.0 -23.0
1201 3NO+1 & -430 -2.0 2.0 4 204 24 V-1 ¢A 50 42.0 -42.0 1201 24 S-2 ¢4 -100 70 -7.0
2202 3NO+1 v4 -430 -2.0 2.0|102 302 24 V= ¢A -110 5.0 -5.0(101 301 34 S-2 #A -100 70 -7.0
4204 BNO+1 o -430 -2.0 2.0|105 305 24 V= ¢A -110 50 -5.0 2 202 3% O+1 45 -130 1.0 -1.0
102 302 3NO+1 v4 -430 -2.0 2.0|101 301 24 V+1 ¢A -140 -5.0 5.0 3203 380 +1 a5 -130 1.0 -1.0
105 305 3NO+1 v4 -430 -2.0 2.0|103 303 34 V= ¢A -140 -5.0 5.0/102 302 2v N-3 ¢A -150 -8.0 8.0
3 203 3NO+2 & -460  -12.0 12.0 (104 304 24 V+1 ¢A -140 -5.0 5.0 5205 INV+3 ¥3 -180 -16.0 16.0
101 301 3NO+2 v4 -460 -12.0 12.0 3203 3y N-3 &2 -300  -41.0 41.0(105 305 INV+3 ¥3 -180 -16.0 16.0
104 304 3NO +3 &) -490 -21.0 21.0 5 205 5¢DN-2 v4 -500 -80.0 80.0 4 204 3vy N-4 oA -200 -22.0 220
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